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(Total 3 marks)

Expand (2 + v3)(1+ V3)
Give your answer in the form a + b+/3 where a and b are integers

Surds
Things to remember:
e means square root;
e To simplify surds, find all its factors;
e To rationalise the denominator, find an equivalent fraction where the denominator is
rational.
Questions:
1. Work out
(5 +3)(5-V3) .-
V22 :
Give your answer in its simplest form. ,_)"’”S
s 22 % J22
822 55
= 27322
27
2 Rat lise the d inator of -
) a ationalise the denominator of —=
(a) 73
| = J
& AE
(b)
2 3
i e R

.10 e O N
(2)

(Total 3 marks)



i
(a) Rationalise the denominator of T

! &
—_— K — \F—)
TR =
............... e exssmnmsans sepine
(2)
(b) ()  Expand and simplify (/3 + v15)?
Give your answer in the form a + b3 where a and b are integers.
G +lis =18+ 2 J@S
J=| [ fes =18 +2fa8JS
Sis *fes ls1s
______ LB.+61S .
(ii) All measurements on the triangle are in centimetres.
ABC is a right-angled triangle.
k is a positive integer.
A V3 ++15 C
Diagram NOT
accurately drawn B
k 348 3 4§s
2l 9 |+3Ss
B ¥ ;
+JS | +3JS :
Find the value of k. IS |+ >

Ase ptjk,(/\&f)orcﬁb Theorem -
SN G PR (j’g,fﬁgy
Kt + 1G4 - 6FS = 18+ 64S
- =
B> 2
& 8 Tl

(5)
(Total 7 marks)



6.

4.

Expand and simplify (v3 — v2)(v3 — v2)

5 =

33 | Je
%2 :‘.Jj.i’i., i
........ = ‘252;

(a) Write down the value of 49 /2 fﬁ-

______________ L
(1
(b)  Write v/45 in the form k+/5, where k is an integer.
4s =58 xJS = 35S
25

(1
(Total 2 marks)

V18 + 10

Write 72 in the form a + bv/2 where a and b are integers.

2 fTR+10 wd2

5 52
\Bg y 10O 52

i

2
= 6_:}-\_().’3
g
: 3 +SJ2

(Total 2 marks)



=12 w3

1)

I

Expand and simplify (2 + v/3)(7 — v/3)
Give your answer in the form a + b+/3 where a and b are integers.

’ o _1—S 3__
7 14« [ #2203
-J3 _;2_5_@_ ] ”

(4 +V2)(4-2)
\/7

Give your answer in its simplest form.

:Pq-ch;

— e

27 9
= 14J7

—

>

Rationalise the denominator of

4—+/3)(4++3
Show that( \/)1% ) simplifies to V13

—

i Jdi3

- STES
V3

LK

(Total for question = 2 marks)



Algebraic Proofs

Things to remember:

Start by expanding the brackets, then factorise.
Remember the following:
1. 2n - even number
2. 2n+ 1 - odd number
3. a(bn +c) > multiple of a
4. Consecutive numbers are numbers that appear one after the other.

Questions:

1.

(@) Expand and simplify x(x + 1)(x = 1) = >c ‘(/.:u, e | )

(2)
In a list of three consecutive positive integers at least one of the numbers is even and one
of the numbers is a multiple of 3

n is a positive integer greater than 1
(b) Prove that n® — n is a multiple of 6 for all possible values of n.

AY—a 2 flAt= 1) * el neaXa=1)

< conSecave Lr'ﬁ‘c:-e@e s ¥ Nl 5 I g 0 ¥

. Produce of 3 consectoe cnkegers cen loe
rocletied L:)ﬂ (“3 i

lf R is & fector aad L€ i3S @ven, e S A

Malople (,k 6.

251 - 1 is a prime number. )
(c)  Explain why 287 + 1 is a multiple of 3
2% =1 s PN, 2 (s o Mmuleple of 2
2 bl ase be e realbple of S in da
R consecnlsue nunods.
(2)

(Total for question = 6 marks)



2. Prove that
(2n + 3)? — (2n — 3)? is a multiple of 8

for all positive integer values of n.
. ;7” .
-:fl(tfnl F12n +c)> "(L““‘l‘"‘ tz"""'cb

= 2%n
€ % B~

(i

24 is o relEpe of 8§ o 2ba s a mMolépla

of §-

(Total for Question is 3 marks)

3. (a)  Expand and simplify (y = 2)(y - 5)
(_,)-l - QU) - %:_,) [,

-

‘-11‘7‘-‘)*"\) ................
) N (2)
*(b) Prove algebraically that

(2n +1)? = (2n + 1) is an even number
for all positive integer values of n.
'-C(/L(-('\? + 4n + ‘) - (2(\ + )
= GAT 20
= 2(2n%+n)
Sirce 2 is a fector, ke nuloer Ty euen,

(3)

(Total for Question is 5 marks)



* Prove algebraically that the difference between the squares of any two consecutive
integers is equal to the sum of these two integers.
7 conseccbue \‘.h(t(-_’»)eﬁs N oawdt N+

. < - > !
O+)*=nt =N+ 20+ -0

2n ¥

= n ¥ n + |

(Total for Question is 4 marks)
(a)  Factorise x* + 7x

(b)  Factorise y>— 10y + 16

PREN (%*2)(~1 nD

*(c) (i) Factorise 2t> + 5t + 2
_&k
(3 +E
F2 £l
2, v .
..... (2 +Wer2)......
(i) t is a positive whole number.
The expression 2t? + 5t + 2 can never have a value that is a prime number.
E)éplain why. e w __
Lrime. . roannrs beve onty. 2. fachors.. AlTeasty.
S beoersy 1 2665642, 268, € F2 i
(3)

(Total for Question is 6 marks)



(a) Factorise 3t + 12

(b) (i) Expand and simplify 7(2x + 1) + 6(x + 3)
=G> ¥+ 72 +6x +13

(i) Show that when x is a whole number
7(2x + 1) + 6(x + 3)
is always a multiple of 5

= S(42< + S)
SiERE. 'S i E Cector

M lbple Qﬁ T

, dee nunmber s o

(3)

(Total for Question is 4 marks)
Prove that (n—1)2+n?+ (n+ 1)?=3n?+2
\ ' - . B : T ~
‘(7‘\ - ’)L " (‘“\l + (,\,f ,) ¢ = ml,___ 24,5 + | ”}_(,‘1 ¥y O "}_/2.(.‘ s l

- 3N+ 2

(Total for Question is 2 marks)

10



8. The product of two consecutive positive integers is added to the larger of the two
integers. Prove that the result is always a square number.

.
M [/m«frl) +a+ | = N +N + S
r4
- “(ﬁ + l)
Feckor iS Sguared, .. A& Square nubor,

(Total for question = 3 marks)

11



Transformations of graphs

Things to remember:

-

i LR L

f(x) means the function of x.

-f(x) is a reflection in the x-axis.

f(-x) is a reflection in the y-axis.

f(x — a) is a translation in the x-axis, a units.

f(x) + b is a translation in the y-axis, b units.

cf(x) is an enlargement in the y-axis, scale factor c.

f(dx) is an enlargement in the x-axis, scale factor %.

Questions:

1.

y =1(x)
The graph of y = f(x) is shown on the grid.

Y4

T

On the grid above, sketch the graph of y = —f(x).

(a)
The graph of y = f(x) is shown on the grid.
VA

(2)

6 . 2 |0 2 4 6 x
The graph G is a translation of the graph of y = f(x).
(b)  Write down the equation of graph G.

(2)

(Total for Question is 3 marks)

12



2 The graph of y = f(x) is shown on both grids below.

L 3

[ ]

(@)  On the grid above, sketch the graph of y = f(-x)

Y4
=t /

(1)

"
W
l:‘“\“ \‘_.I::.

| B

/,’; T\ \
[ R
/;l ‘,\

(b)  On this grid, sketch the graph of y = —f(x) + 3

_ (1)
o ‘_3 . F(:“') (Total for question = 2 marks)

13



3.

The graph of y = f(x) is shown on each of the grids.

(@)  On this grid, ske}’,tch the graph of y = f(x — 3)
________________ I N
-5 4 3
B S 2 4 B 2
31—
(b)  On this grid, sketch the graph of y = 2f(x) @
R S
SN S N N Y I I
______ - _
B - sl . S -
A e gl
I ! —
—\L2
-5 4 3 2 -1 0 4 5 6 7 >l
- ,,J,,, o — o -
B A9l ~ -
B i N - N —
(2)

(Total for Question is 4 marks)

14



4,

The graph of y = f(x) is shown on the grid.

v

[ EN]
-~
j".‘?s
[ea]
e

U NP [ . - — e e

(@)  On the grid above, sketch the graph of y = f(x + 3)

(2)
The graph of y = g(x) is shown below.

Y A

\ / =g(»)
o><>\

/

The graph G is the reflection of y = g(x) in the x-axis.
(b)  Write down an equation of graph G.

(1)

(Total for question = 3 marks)

15



Equations of Circles

Things to remember:

8. The general equation of a circle is (x — a)® + (y — b)*> = r?, where (a, b) is the centre and r is

the radius. :

9. To calculate the equation of the tangent:

1. Calculate the gradient of the radius of the circle.

2. Calculate the gradient of the tangent of the circle.

3. Substitute the given coordinate and the gradient of the tangent intoy = mx + c to
calculate the y-intercept.

Questions:

1.

The circle C has radius 5
and touches the y-axis at
the point (0, 9), as shown in
the diagram.

(a)  Write down an
equation for the
circle C, that is
shown in the
diagram.

) 7 3
Lot |~5,; "Q

=¥

A line through the point P(8, - 7) is a tangent to the circle C at the point T.
(b)  Find the length of PT.
¥ t">’...).‘“::¢~>} ble ve.eS 5,,1,,, T ‘ PT =PTs.
{’\2 B = . ‘4_,,..., S e — f—-.—_ ———
~SJ5n Oiskaace PQ = J(€==8)" » (~2-4)

S ‘"\-‘V\\‘. —— —

. e \_>__3 P - L)ll &7

(2

-..L — s
PT = (5] -8
FT = 20
(3)

(Total 6 marks)

16



2 A circle C has centre (=1, 7) and passes through the point (0, 0). Find an equation for C.
)

~

Dbl _ﬁ::")—{? Jso

— x

(Total 4 marks)
The circle C has centre (3, 1) and passes through the point P(8, 3).
(a)  Find an equation for_Q_ _
Bepifes U2 52* 2.]25
(.23 (40229
.................... g (4)
(b) Find an equation for the tangent to C at P
Codhens of adias ' 3-1 2 &
«we P A k%
é,—(v.c)u@\k:- OL tC:V\SC’/\E '.-} A &5 o
at P S >
. e P
‘-C)—-‘“a‘tx_ £ /P-((K,3)
3=2-3(g)+c¢
> (®)
c. < 235

()
(Total 9 marks)

17



Quadratic and Other Sequences

Things to remember:
e To calculate the nth term of a quadratic sequence:

1. Calculate the first difference.
2. Calculate the second difference.
3. How many n*s?
4. Subtract.
5. Calculate the nth term of the difference.
6. Write the quadratic nth term.
Questions:
1. Here are the first 5 terms of a quadratic sequence.
1 3 7 13 21
Find an expression, in terms of n, for the nth term of this quadratic sequence.
Mot e L T IR :
2 4 +6 %
I \ ¥ 2 A% -y
e ] 4 9 L. 2. S
T - f\1 2, -, -7 =3 - & & — N + )
........... 5 e 4, 5 21 N
(Total for question is 3 marks)
2. Here are the first six terms of a Fibonacci sequence.
1 1 2 3 5 8 13 3 3%

The rule to continue a Fibonacci sequence is,
the next term in the sequence is the sum of the two previous terms.
(a) Find the 9th term of this sequence.

2 &
(1)

The first three terms of a different Fibonacci sequence are

a b a + b
(b)  Show that the 6th term of this sequence is 3a + 5b

™ . a+b

ifd" "Gt \Z_"\

%@A : Z_ a + ‘\2"”

Ll Re+ §b (2)

18



Given that the 3rd term is 7 and the 6th term is 29,
(c)  find the value of a and the value of b.

(2o + 1"’\ =
Ra +Sh =2 9 S |

™~

~J

¥ S

2 =—-8

- {-i”
O+ b = /
o~ !" L't 5 /
S

Here are the first five terms of a sequence.
2 8 18 32 50
(a) Find the next term of this sequence.

6 rio it +1% FLT
o F Y T 9

The nth term of a different sequence is  3n?— 10
(b)  Work out the 5th term of this sequence.

—

3(SH)*-wO

19

S SitmaleoneOouns e Qe 60NS

(3)

(Total for question = 6 marks)

(1)

(Total for question = 2 marks)



Here are the first five terms of an arithmetic sequence.
1 5 9 13 17
(@)  Write down an expression, in terms of n, for the nth term of this sequence.

................. 1/ el SR
(2)
The nth term of a different number sequence is 3n? + 7
(b)  Find the 10th term of this sequence.
(o)t + /
. WP
(2)

(Total for Question is 4 marks)

20



Completing the Square

Things to remember:

e To complete the square:
1. Halve the coefficient of x.
2. Put in brackets with the x and square the brackets.
3. Subtract the half-coefficient squared.
4. Don't forget the constant on the end!
5. Simply.

e For (x-p)?+q =0, the turning point is (p, ).

Questions:

1. (i) Sketch the graph of f(x) = x2 = 5x + 10, showing the coordinates of the turning point

and the coordinates of any intercepts with the coordinate axes.

]
{,' ) = _m—.)()“; Ve JL'LL-:\._;-.Q;LI'—:, = e \ /‘ S L-\,',"r),‘_.:‘ )

23 4 i s < 7 - ‘—:’
L) = (x-2)ro-%
A

: ; < s
- fl, PN ™ = “g-.,‘-) OO t ,\k :3- — ) -
= i \ T ) & O+

k]

\/

!»‘"

/

> ok

(ii) Hence, or otherwise, determine whether f(x + 2) = 3 = 0 has any real roots.

Give reasons for your answer.
No recl roos becouse e sreg-

cloes mnok < S eck (e =™ —oax\S,

(Total for question = 6 marks)

21



(@)  Write 2x2 + 16x + 35 in the form a(x + b)? + ¢ where a, b, and ¢ are integers.

2 (s +8) + 35S

/ g
& g.‘)‘ 3 g™ Ju B S
” * ¥ L

i / ¢ c

|oc T 2 'ﬁ') S

(3)
(b) Hence, or otherwise, write down the coordinates of the turning point of the graph
of y=2x2+16x + 35
............ ‘\‘\;J%
(1)

(Total for question = 4 marks)

The expression x2 — 8x + 21 can be written in the form (x — a) 2 + b for all values of x.
(@)  Find the value of a and the value of b.

(e ~+) - lo +21 = (= -4) " +S

= = {“( ...........................................
B oormeened S eoercoeeeesssmerssesm s

22



The equation of a curve is y = f(x) where f(x) = x2 — 8x + 21
The diagram shows part of a sketch of the graph of y = f(x).

'|l’
B § = I‘(.\*)
\ !
y
‘*\____x___
M
0 B

The minimum point of the curve is M.
(b)  Write down the coordinates of M.

(1)

(Total for Question is 4 marks)

23



Inverse and Composite Functions

Things to remember:
e y=f(x) means thaty is a function of x.

e f(a) means the value of x is a, so substitute x with a.
e The graph of the inverse is the reflection of the graph in the line y = x
e We find the inverse function by putting the original function equal to y and rearranging to

make x the subject.

e \We use the notation f(x) for the inverse function.
e \When a function is followed by another, the result is a composite function.

e fg(x) means do g first, followed by f.

Questions:
1 The functions f and g are such that
fx)=1-5x and g(x)=1+5x
(a)  Show that gf(1) =- 19
Q) i’” g '{,) S AES ; | = Sx ’>
l + :-; ),\ y o
\,) ‘Z. \:’ >
) § ';/') - © s (1)
=28

(b)  Prove that f(x) + g™'(x) = 0 for all values of x.
(r ‘: f?(,) - { = \:) 20
A | = S =
= LB%—-\ raalli .
=
J[". 1(_-)9 e _t l
5
\ 7 5 ( P "
!l/ ‘l '\v’) Jl'— ::) I‘l - \J) ’:’, } /{

24

(2)
+ S
F S ¢
e <l '___
=
= %
(3)

(Total for question = 5 marks)



3.

The function f is such that
f(x) =4x -1

(@)  Find f'(x)
ki) - (k > & -‘l
u) }~ -‘ ot.
=T

The function g is such that
g(x) = kx2 where k is a constant.
Given that fg(2) = 12

(b)  work out the value of k
(%) = G (k) - |
: (-(-Lc‘m;(“--' \
fa(2) = ¢k(D)*-]
| ol — |
bk = =172
bk =13

ke = 124

The functions f and g are such that
f(x) = 3(x — 4) and g(x) = g + 1

(a)  Find the value of f(10)
j: ’{/lc;)) S (= -G
W
(b)  Find g~'(x)

+ |

{ e Cra
v Sl <

>\ u‘\ 4 i.) A,

25

< + |
FUX) = oo e
(2)
I3
e e
(2)

(Total for question = 4 marks)



4.

(c) Show that ff(x) = 9x — 48
£) = 3(ec-4) = 3x 12
69 = 3(3x-12)-12
Foe -~ 3k =12
Tx - 63

1

il

\i

(2)

(Total for question = 5 marks)

f(x) =3x2-2x-8
Express f(x + 2) in the form ax? + bx

[(c+2) =3 (<+2)-2(x+2)-8

= 3(:1.1 + & oc -4—%) -2 =4 - §
BT F12¢ +12-25¢ -G-8
B + 10>

1]

il

(Total for question is 3 marks)

26



Expanding more than two binomials

Things to remember:
e Start by expanding two pair of brackets using the grid or FOIL method.

e Then expand the third set of brackets.
e Use columns to keep X3, x2 etc in line to help with addition.

Questions:
1 Show that
(X=-1(x+2)(x-4)=x-3x*-6x+8
for all values of x.

(¢ = 1)X 2 + 2)(x — &)

> -K_.t ;,Z—;,\_
- | —SC =)

(Total for question is 3 marks)

2. Show that
(3x = 1)(x + 5)(4x — 3) = 12x> + 47x* - 62x + 15
for all values of x.

(3oc— 1 )5c +SX b= —3)

S5 el
K .ﬁ.‘{.a' -

(Total for question is 3 marks)

27



Show that

(x-3)2x+ 1) (x+3)=2x>+x*-18x-9

for all values of x.

(o< =3 2zoc* (= + 3)

_x -3
23( I-’Z:x.t' —631
+ | +oe. -3

= ‘(ZDCL" o ot -—SD(D‘: ”'3)

£3

T

2z -S> -3
2x® |- Sa:?"' —33:*
Foc“ [ ~|Sse ( -9

(2x + 1)(x + 6)(x - 4) = 2x* + ax® + bx — 24

for all values of x, where a and b are integers.

Calculate the values of a and b.

(Zac_ -}-IXDC +6)(/:x_—q)

X

+6

e &1 |
2% [ 4= |
H2x | 46 |

] (21L+ le*é)(l — <)

T

g +(3x +6
>C {23’—3 {{—{gx'll 4’61
o |- [-S2oc| —20

& DoV BTl o P

28

(Total for question is 3 marks)

(Total for question is 4 marks)



Nonlinear Simultaneous Equations

Things to remember:

Substitute the linear equation into the nonlinear equation.

Rearrange so it equals 0.

Factorise and solve for the first variable (remember there will be two solutions).
Substitute the first solutions to solve for the second variable.

Express the solution as a pair of coordinate where the graphs intersect.

£ B LA DA

Questions:

L Solve the equations
x>+ y? =36
xX=2y+6

(/] -~ o} U\ . — >

[ (8e Y
(6.,9). ond (=75, ")
(Total for Question is 5 marks)

29



3.

Solve the simultaneous equations
X2 +y2=25
y=2x+5

=~ + (2:(_4— S) =25
2 b Gt y20x+25225
g':(_.l F 20> = Q

Sbt(:x. 4-(4—) = O

= = O o o

#F > = O, ,_3-:. Q(O)+‘S=S
‘P > = -C‘,/ u\ = 2\(—'@) “f"S = )—.3
X=. oo, o

30

...... andy=....“.".3........
(Total for Question is 6 marks)



4. Solve the simultaneous equations X2+y2=9
X+y=2 = ey # 2 - =
Give your answers correct to 2 decimal places.
<2+ (2-22)"= 9
(A - c))

~% + G - %3 +x
2" =Gz = 5

- TR s | (P - :,\a.‘-'-OK?O?s
(= )

(= A)

(F =c ='n’ e D oA e B VEE
f > ='8", 4=2-"8"=2.5705...

(Total for Question is 6 marks)

31



Solving Quadratic Inequalities

Things to remember:
e Start by solving the quadratic to find the values of x, then sketch the graph to determine the

inequality.
Questions:
1. Solve x2>3x+4
r B 2
% - Jx -G 2O

(Total for question = 3 marks)
2. Solve the inequality x2 > 3(x + 6)
%7 B3 +1 &
>~ -3 18 2O

ﬁ’/_‘-)'(_ — {’3)(5(_,}’ S) > (__)

po_ L) or 'Z_‘

3. Solve the inequality 2+ Bx > 6
e T4 Sx-6 20
(= 3EX=<1) PO

~ =-b of f

(Total for question = 3 marks)

32



4,

5.

6.

Solve the inequality

Solve the inequality

Solve the inequality

x2-2x+8<0
(> -—-Q)(l*2> <O
-2

-~ = or

x*-x2z12
o g o P L
(- 4X=< +3)20
5%

= = & OF

X2 < 4(2x + 5)
xt< §x + 20

—

oo T e R e e i B D
(> - lo)(l +2) <O

o> &

-

10 or #

33

(Total for question = 3 marks)

(Total for question = 3 marks)

ot
; ———W} >
-7 [ )

(Total for question = 4 marks)



Circle theorems

Things to remember:

A S

The angle at the The angle in a semi- Angles subtended by Opposite angles in a
centre is twice the circle is 90 the same arc are cyclic quadrilateral
angle at the equal. sum to 180°
circumference.
Tangents froma A tangent is Ang[es in alternate
pOint are equal. pel‘pendicular toa Segments are equa]_
radius.
Questions:
1.

P 0
g

Diagram NOT accurately drawn

P is a point on the circumference of the circle, centre O.
PQ is a tangent to the circle.

(i) Write down the size of angle OPQ.

(ii) Give a reason for your answer.

. Radiny. endk. eavgenk A2 perpendicalas:

(Total 2 marks)



N\,

Diagram NOT accurately drawn
A, B and C are points on the circumference of a circle, centre O.

AC is a diameter of the circle.
(@ (i) Write down the size of angle ABC. 90

(ii) Give a reason for your answer.

{ Al 2 ) \ SN U cJe L L e < ,,_.,‘(()ﬁ
..... B e R e R R A R
(2)
‘ F
£
D
Diagram NOT accurately drawn
D, E and F are points on the circumference of a circle, centre O.
Angle DOF = 130°.
(b)y (i) Work out the size of angle DEF. P
o J o
(i) Give a reason for your answer.
....l..\..‘.f”.....ff’\.f..\z:} ........... ak. Gae. conre . Gice . Shae
p W!{e’ Lok Ehe CraAMab @ 20NC2 e

(Total 4 marks)

35



; P
86°
a ;f(?- . (".gf)
L
\‘
B
Diagram NOT accurately drawn
A and B are points on the circumference of a circle, centre O.
PA and PB are tangents to the circle.
Angle APB is 86°.
Work out the size of the angle marked x. e S
o o
(Total 2 marks)
D
A

G
0 )
J

B

Diagram NOT accurately drawn

In the diagram, A, B, C and D are points on the circumference of a circle, centre O.
Angle BAD = 70°.

Angle BOD = x°.

Angle BCD = y°.

(@)

(b)

(i) Work out the value of x.

(ii) Give a reason for your answer.

dhe. . ogle ok he Conbe IS Goice e

LN GE dao A/ RN

| (2)
(i) Work out the value of y.

P o

(i) Give a reason for your answer.

A, PROMER LN, LS .<.é.t:f)‘~l LaC. Qe A leter fi'.‘.‘.

(2)
(Total 4 marks)
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36°
A D
Diagram NOT accurately drawn
The diagram shows a circle centre O.
A, B and C are points on the circumference.
DCO is a straight line.
DA is a tangent to the circle.
Angle ADO = 36°
(@)  Work out the size of angle AOD.

(b)y (i) Work out the size of angle ABC.

(ii) Give a reason for your answer.

............................................................................................

L
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........................ (2)
(“L«\:‘, ...............
........................ (3)

(Total 5 marks)



Vectors

Things to remember:
e Use the letter provided in the question.
e Going against the arrow is a negative.
e Vectors need to be written in bold or underlined.
e They can be manipulated similarly to algebra.

Questions:
1. The diagram shows a regular hexagon ABCDEF with centre O.
y (I
- Diagram NOT
X accurately drawn
6a 6b
F 0 &
E D
04 = 6a OB = 6b
(a) Express in terms of a and/or b
i AB' :
. et ee ...
(i)  BF. ,
................... ot 12 e
_ _ (2)
X is the midpoint of BC.
(b)  Express EX interms of a and/or b
7 o L S7
\::\,-{ = ':g_ (8 )('3 - Z (< L=
s l’?. L:" - .S’T",_‘
......... R - R L
_ _ (2)
Y is the point on AB extended, such that AB : BY = 3:2
(c) Prove that E, X and Y lie on the same straight line.
—3 — . { ~ .
eEx = 3(4%ke - &) Since (&2 a) is
] — r.d _,-‘2) .
J;": \;/ = r:?_‘ &)‘% 'fl' H-; ")[ (.—:/L..):,\‘\f\dl(-')(\ («c‘,\(_j_tl)f '"‘ (»;Lw("l-u]
- |2 + 1,5 (ble- (-‘f"r) cre Earauel.
= i S\ _
- |12k + 42 - Ga Bait. Share EnE S
ik . N otz - ~ Loneos .
. _4oa o (‘).__)\,,r‘\L\\A, clre o
=} ) L’- LR (3)
2 Jl ‘;//{ K (-~) (Total 7 marks)
= [ & - l S ¥ - - —;\

38



T is the point on PQ for which PT: TQ=2: 1.

Q Diagram NOT
T accurately drawn
b
0 > P
OPQ is a triangle.

OP =aand %9 =b,

(a)  Write down, in terms of a and b, an expression for PQ.

PO o e +b
o (1)
(b) Express OT in terms of a and b.
Give your answer in its simplest form.
<) . .
OT =0Q + 5 QP
I
b +3(s-%)
= b\ I; \ E' 13
! 2
A - L - - S
(2)

(Total 3 marks)
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3.

OABC is a parallelogram.
A

0] o6c¢c L
2

P is the point on AC such that AP = 3 AC.

04 = ga, OC =g,

(a)  Find the vector O7.
Give your answer in terms of a and c.

=, = g e
oP=0A+ 35 AC
= i
/ v
I ) 4+ — I‘"\l é) < — CDL;)

The midpoint of CB is M.
(b) Prove that OPM is a straight line.

=2 (av2 &)

- y =3
2 OF 5 €8

OP
Orn
= bc + 12 6a
= be + 34
A 5 ‘{{2 c + °3>

40

Diagram NOT
accurately drawn

_ I e, i i
~inece | iR ‘,:) T
C{’_"_')f“’t [ 2 FL‘\ (-tl—\. =lg ) OT) (/""\.(_/(

OM cve pavaltlel.

Poine O 5 sSleao/~€ct 3

=l e LA,
.

C_)f) [ *S & ‘bkf‘cf\.tr)

(2)
(Total 5 marks)



OPQ is a triangle.
R is the midpoint of OF.
S is the midpoint of PQ.

aé=pand 0 =g

0
(i)

(if)

Diagram NOT
accurately drawn

1 )

Find 5 in terms of p and q.
o — \ -
OS5 =0a+1QP

4.4+ L(e-a)

—

=g+ :L R -3 A4
Show that RS is parallel to OQ.
oQ = 2
8=+ OP + 3 PQ

fp+ %fa~e)

B aw e F o do
= TR+ 2T 2R

41

Since G

e

ConON [r‘-m;_ L—i:'\.)f‘"/

(cl \ c,«r‘v"l(/L
{ S~aeJed el .

Q (»2 e

(Total 5 marks)



5.

OPQR is a trapezium with PQ parallel to OR.
OP = PO = 2a OR = 6g
M is the midpoint of PQ and N is the midpoint of OR.

P

T

Diagram NOT

accurately drawn

O i,

R
N
(a)  Find the vector MN in terms of a and b.
= (i =52 =g G el
M) = 53 QP + PO + 5300
MV = 2987228 .
o _ . (2)
X is the midpoint of MN and Y is the midpoint of QR.
(b)  Prove that XY'is parallel to OR.
Q-?Z — (_) (_,_',_\
. —= —_— —
XY =3 AN+ 7 OR + 5 RQ

Since & s & common fackor, XY andt
O cve poraliet.

(2)
(Total 4 marks)
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6.

ABCD is a straight line.

A B ¢ &
1 |
Diagram NOT
b accurately drawn
a
O
O'is a point so that ?4=2 and OB=b
B is the midpoint of AC.
C is the midpoint of AD.
Express, in terms of a and b, the vectors
(i) AC
............. ‘)“L?'z-\
i 2
- _— "
O = Oon + 2 AC
a + &b -%a
o - R a

(Total 3 marks)
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7. Diagram NOT accurately drawn

A P
" B

D C
ABCD is a parallelogram.

AB is parallel to DC.

AD is parallel to BC.

A%B =p
(a) Express, in terms of p and g
(i) . {3

Diagram NOT accurately drawn

A P
> B

D C
AC and BD are diagonals of parallelogram ABCD.
AC and BD intersectat T.

(b)  Express 4T in terms of p and q.

o =k w-
:"\'{ -2 {’\‘-’

(1)
(Total 3 marks)
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Diagram NOT accurately drawn
OAB is a triangle.

B is the midpoint of OR.

Q is the midpoint of AB.

@:23 E&:a aﬁzb

A
a
'3
Q
2a
0 b B R
(@)  Find, in terms of a and b, the vectors
i AB ‘ )
e @ e 1= N
) ’ Dl "2 4

(i) PQ.

(4)
(b) Hence explain why PQR is a straight line. o
- 1 — - ) D—ﬁ
(/b -a) is a facor of bokh Pe cnd PQ,
So ‘cL«.e,v) e f:a.'-_:‘u;\(..(,u. RBoict. store_ P= o e ‘O,
So alk Le on a seaglte (~ne.
(2)
The length of PQ is 3 cm.
(c) Find the length of PR.
e e F =219
BRI - - cm
(1)

(Total 7 marks)
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Sine and Cosine Rules

Things to remember:

Questions:

1:

For any triangle ABC, a® = b? + c? - 2bc cosA

b c
sin A B sin B B sinC
For any triangle ABC, area = 2 a b sinC

For any triangle ABC,

Diagram NOT accurately drawn
ABC is a triangle.

D is a point on AC.

Angle BAD = 45°

Angle ADB = 80°

AB=74cm

DC=5.8 cm

Work out the length of BC.
Give your answer correct to 3
significant figures. # D 5.8 em C

3> _ 7.4 . an
= = i o By 36 Sl P | ~A)
‘,) l-ft\ (_1- _\, S ;1’ \ B.‘(- )

('%)(-/d - ‘\f?‘" 2 .5, (\;..f.] ,_Z “K“{‘:"]‘f}{ S. \6» w CON | O

Diagram NOT accurately drawn

ABC is a triangle.

AB=38.7 cm.

Angle ABC = 49°.

Angle ACB = 64°.

Calculate the area of triangle ABC.

Give your answer correct to 3 significant
figures.

5 " ‘;) ("
SN ({- “ SINGY

- Tl g (B o {'v-bf"\)

yz 29, L1+

O.S x ‘A" 8.7 x SiNG

............... 2 LD . CT2
(Total for Question is 5 marks)
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ABCD is a quadrilateral.

Diagram NOT accurately drawn

Work out the length of DC.

Give your answer correct to 3 significant figures.

R = £.2°+S.6%=2%5.2x5.6
X COS 28
RD = §.4916... (A)

B2E,  Rad

S. NGO SN0

O 25,8198+

Diagram NOT accurately drawn

ABC is an isosceles triangle.

Work out the area of the triangle.

Give your answer correct to 3 significant figures.

_AB . v

- e g,

sNnSG¢  sin2
BE & 19,2077 v ‘(/"‘*7 H)

O.Sx A ~2K sn22 *49.5445 ...

47

8.2 em B

78°

5.6 cm

g‘. 5 Z cm

(Total for Question is 6 marks)

A

12 cm

C“l' o cm?

(Total for Question is 4 marks)



Diagram NOT accurately drawn L

The diagram shows triangle LMN. 15.7 em
Calculate the length of LN.

Give your answer correct to 3
significant figures.

SN L . bin 13(0 N

12.8 cm

(2 .% 5.5
L = 3%.495... (=A)
M = 9.S0%... (=58)

(0= 1S.2%p12.82=-2x1SDOx12.§ xcos" 8"

5 Rl Bk

i

VABCD is a solid pyramid.

ABCD is a square of side 20 cm.

The angle between any sloping edge and the
plane ABCD is 55°

Calculate the surface area of the pyramid.

Give your answer correct to 2 significant figures.

Bcse avea ' 2Ox20 = 40O et
v

sc= WO +TcosSS ]
»¢ -1 43 .. (- (’1) A4 20 cm B

Aree of Erongte :%xf\' 19, 36 ... (=8)

Tkl surfece evea:
(&_L-x')“}_ L‘_K*B”“: (qugj

(Total for question = 5 marks)
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The diagram shows triangle ABC. P ) X
The area of triangle ABC is k\3 (+1)em
G,

Find the exact value of k.

(x—1) em

2x—1)em

. I
cosl20= "7
¢ /

V L

(2:"“' ')Z " (.x - '),.1 + (f:x ‘fl)za-?_ (’:x_—- ) (Lf J) Lo 280
G —boe -1 =T -2+ | +2¢T+2c +| + = — |

x> = O
“. =< Dr Q-l-)

s D=1 23 e M =5
. p - S "->
O.SxR %S xsinl20 = "C,."‘J-b

'S

K=o e
(Total for question = 7 marks)

Diagram NOT accurately drawn

AC=92m

BC=14.6m

Angle ACB = 64°

(a)  Calculate the area of the
triangle ABC.
Give your answer correct to 3
significant figures.

O.Sx4.2x 4.6 xSinb&

= 0, 363... .
¢ 4.6 m

..................... (JOL(‘ m?

(2)

(b)  Calculate the length of AB.
Give your answer correct to 3 significant figures.

AR = 13.&L2..- TR -
(3)

(Total for Question is 5 marks)
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Area under Graphs

Things to remember:
e Velocity is speed with direction
rise

o Acceleration and deceleration is given by the gradient of the graph (Zﬁ)
e The distance travelled is given by the area under the graph.

Questions:
1. A car has an initial speed of um/s.
The car accelerates to a speed of 2u m/s in 12 seconds.
The car then travels at a constant speed of 2u m/s for 10 seconds.

Assuming that the acceleration is constant, show that the total distance, in metres, travelled
by the car is 38u.

Avernge speed i L+ i 2 B
e

S Uux12=18u m

‘:’,L -

2 % 10 =2 20 M

Tokel diseence P |4 206 = 38t -

(Total for question = 4 marks)
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2.

Karol runs in a race.
The graph shows her speed, in metres per second, { seconds after the start of the race.

(a)

(b)

()

Speed (n/s)

r 3

:m‘é

10 H= HLLLLL

b

0 2 4 6 8 10
Time (t seconds)

Calculate an estimate for the gradient of the graph when t = 4
You must show how you get your answer.

Fise = (O.%-S.S5S = I, 225
e ‘3 __2

(1)

(Total for question = 6 marks)
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Here is a speed-time graph for a car journey.
The journey took 100 seconds.

A
@)
-
| I
speed | |
(m/s) | |
o/ 1 |
| I
| I
| I
| I
. 1 = = = s
0 2 40 60 80 100 120

time (s)

The car travelled 1.75km in the 100 seconds.
(@)  Work out the value of V.

Tt cveat 1750 = lOV + GOV + 20v
| SO = 70v

2_(") =N

................. .=
(3)

(b)  Describe the acceleration of the car for each part of this journey.
(0.0 237203 1:23.Mm5.5.8650E000.
@ .. Qot accelereion - consbant speed ...
(3.1 725 240.2.0.625 My decelemEon. ...
(2)

(Total for question = 5 marks)
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4.

The graph shows information about the velocity, v m/s, of a parachutist t seconds after

leaving a plane.

Va
60 = i S ¢ = _;r
1) e
50 , 5> i
; Y
40 B V.
Veloeity g 7
/s) 30 /
: i)
. 4 [ {
!f bt
20
F )
AU ( 24
ri N
Il
i
10 / -
ri
o 2 4 6 8 10 2 !
Time (seconds)
(@)  Work out an estimate for the acceleration of the parachutist at { = 6

YA - b gt | 430 I ({,.]6
AN £§-27

Work out an estimate for the distance fallen by the parachutist in the first
12 seconds after leaving the plane.
Use 3 strips of equal width.

Arec. O &x 35 =70
P

Aree@ : 7 (35+SD) G =122
Acee. D 5 (S1+SW¢G =210

Teesl 2 20F ' Y2+ 20 S22

(Total for question is 5 marks)
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Here is a speed-time graph for a car.

A
30

Speed (m1/s) /

15

10 7

0 2 4 6 8 10 12

Time (s)
(@)  Work out an estimate for the distance the car travelled in the first 10 seconds.

Use 5 strips of equal width. @ : L(9+15)2 = 2¢

@:2____';_-2:2 @:-,’_—(IS $24)2 = %9

@' z(z2+3)2=7 5 ¢+ 1G + 26 +44 =6

@ ‘ ‘!i(S""‘)Z = )4 ‘3&: .......................... (g;
(b) Is your answer to (a) an underestimate or an overestimate of the actual distance?

Give a reason for your answer.

veresomake.. n..@ath. frange/dnpezia. ..

COVeS. ore. avea oo Ehe Shope oAt

B 2t P O R —— o

(Total for question = 4 marks)
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Histograms

Things to remember:

Frequency = Frequency Density x Class Width;

The y-axis will always be labelled “frequency density”;
The x-axis will have a continuous scale.

Questions:

1.

One Monday, Victoria measured the

table. She used this information to complete the frequency table.

Time (t seconds) | Frequency =D
0<t<10 8 0.8
10<t=<20 16 1.6
20<t=25 15 3
25 <t=30 12 2-4
30<t=50 6 0.3
(a)  Use the table to complete the histogram.
3
Frequency
density
2
|
:
0 10 20 30 40 50

Time (seconds)

55

time, in seconds, that individual birds spent on her bird

()



On Tuesday she conducted a similar survey and drew the following histogram from her

results.

3

Frequency
density

1=

10

20

Time (Seconds)

40

(b)  Use the histogram for Tuesday to complete the téble.

Time (t seconds) | Frequency
0<t=10 10
10<t=20 \ §
20<t<25 14
25 <t=<30 o
30<t=50 g

56

ED
i
1. 8
= .§
b4
o.4%

50

(2)
(Total 5 marks)



2.

This histogram gives information about the books sold in a bookshop one Saturday.

20 F 3

Frequency
density 16
(number
of books |,
per £)

8

4_

0 . T >

T T
0 5 10 15 20 25 30 35 40
Price (P) in pounds (£)

(a)  Use the histogram to complete the table.

Price (P) in pounds (£) | Frequency
0<P=<5 ExS=6LO

5 =Fs10 (ZxS = 60
10<P<20 S.bx1l0=S6
20< P =40 lLobx2o = 32

(2)
The frequency table below gives information about the books sold in a second bookshop on
the same Saturday.

Price (P) in pounds (£) | Frequency ~O
0<Psb 80 lb
5<P=10 20 &
10<P=20 24 2.4
20<P<40 96 “.8

(b)  On the grid below, draw a histogram to represent the information about the books
sold in the second bookshop.

A

e

\i

v

0 5 10 15 20 25 30 35 40
Price (P) in pounds (£)

(3)
(Total 5 marks)
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The incomplete table and histogram give some information about the distances walked by
some students in a school in one year.

A

Frequency !
density

0 200 400 600 800 1000
Distance (km)

(a) Use the information in the histogram to complete the frequency table.

Distance (d) in km | Frequency ~D
0<d=300 210 0.7
300 <d =400 350 3.5
400 < d =500 IR0 T 9
500 < d <1000 GO 0.8

(2)

(1)
(Total 3 marks)

(b)  Use the information in the table to complete the histogram.
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4.

The incomplete histogram and table show information about the weights of some

containers.

(@)  Use the information in the histogram to complete the table.

(b)  Use the information in the table to complete the histogram.

Frequency
density

0.0l

0.01¢ -

0.0l

0.0l

0 008

0.00b

0 .Cck

Weight (w) in kg ;req“e““
0 <w< 1000 16

1000 <w=2000 | ¢

2000 < w = 4000 2o

4000 <w <6000 |16

6000 < w=8000 |2

8000 < w= 12000 | 8

O.O\6

O-O\8
0O

o= =]
O.C0b
0.00¢

2000 4000

6000

Weight (w) in kg

59

8000

(2)

(2)
(Total 4 marks)



The incomplete histogram and table give some information about the distances some
teachers travel to school.

A

&
Frequency
density

v

0 10 20 50 60

Distance (d km)
(@)  Use the information in the histogram to complete the frequency table.

Distance (dkm) Frequency D
O0<d=b 15 3
5<d=10 20 %
10<d=20 ZS Z:5
20<d=40 |6 O.%
40<d=60 10 o.S

(2)

(1)
(Total 3 marks)

(b)  Use the information in the table to complete the histogram.
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6. The table gives information about the heights, in centimetres, of some 15 year old students.

Height (h cm) 145 <h =155 165<hs175 178 < <180

Frequency 10 80 24
D | &G 1.6
Use the table to draw a histogram.
¢’
o
Y -
-
1

140 145 150 155 160 165 170 175 180 185 190

Height (4 cm)
(Total 3 marks)
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A teacher asked some year 10 students how long they spent doing homework each night.

The histogram was drawn from this information.

A

Frequency
density

0

10

Use the histogram to complete the table.

Time (t

minutes) Frequency
10<t<15 10
15<t<30 36
30=t<40 \ ¢
40<t<50 12
5O2f< 70 (™

62

Time (¢ minutes)

(Total 2 marks)




Capture-Recapture

Things to remember:

e Set up a pair of equivalent fractions > how many out of x were tagged = how many of the

second sample are tagged out of how many in the original sample.
This method assumes that the original sample is thoroughly mixed back in.

Questions:

1

A scientist wants to estimate the number of fish in a lake.

He catches 50 fish from the lake and marks them with a dye.
The fish are then returned to the lake.

The next day the scientist catches another 50 fish.

4 of these fish are marked with the dye.

Work out an estimate for the total number of fish in the lake.

(Total 2 marks)

A farmer wants to estimate the number of rabbits on his farm.
On Monday he catches 120 rabbits.

He puts a tag on each rabbit.

He then lets the rabbits run away.

On Tuesday the farmer catches 70 rabbits.

15 of these rabbits have a tag on them.

Work out an estimate for the total number of rabbits on the farm.

20 N

C P L

(Total 2 marks)

There are N beads in a jar.

40 of these beads are black.

Julie takes at random a sample of 50 beads from the jar.
5 of the beads in her sample are black.

Work out an estimate for the value of N.

(_{‘."; ) o ,\’s

N S

(Total 2 marks)
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Clive wants to estimate the number of bees in a beehive.

Clive catches 50 bees from the beehive.

He marks each bee with a dye.

He then lets the bees go.

The next day, Clive catches 40 bees from the beehive.

8 of these bees have been marked with the dye.

(i) Work out an estimate for the number of bees in the beehive.

_:35; D) ... &8

= Wiy,

(i) Write down any assumptions you have made.

(Total 4 marks)

Toga wants to estimate the number of termites in a nest.

On Monday Toga catches 80 termites.

He puts a mark on each termite.

He then puts all 80 termites back in the nest.

On Tuesday Toga catches 60 termites.

12 of these termites have a mark on them.

Work out an estimate for the total number of termites in the nest.

O - <
>C 60O

(Total 2 marks)
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There are a large number of white beads in a bag.

There are only white beads in the bag.

Felicity wants to find an estimate for the number of beads in the bag.
Felicity replaces 30 of the white beads in the bag with 30 black beads.
She then takes 50 beads from the bag.

2 of the 50 beads are black.

Felicity then puts the 50 beads back in the bag.

(@)  Work out an estimate for the number of beads in the bag.

.. TE

' < S

................... = = S
| (2)
(b)  Write down one assumption you have made.
The.. esds. o Enemaaeby L2058
(1)

(Total 3 marks)

Alex wants to find out how many ducks there are in a park.

One day he puts a tag on each of 30 of the ducks.

The next day he catches 40 ducks.

8 of these ducks have tags on them.

(i) Work out an estimate for the number of ducks in the park.

SO . &
e GO

Alex assumed that none of the tags fell off during the night.
(ii) If Alex’s assumption is wrong, explain how this could affect your answer to part (i).

[ | wa)\n g-q?,ut ; )H” HLQ,;( U lave (_‘)L_)C’.’J‘Q‘(J/‘---»,;.;Q’.Gcz(

.................... R N e e T e e e e e PR

Elne e, of | duachkd

(Total 4 marks)
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Set Theory

Things to remember:
A B The intersection is where two sets overlap.

AnB

This means A and B.

A B Ifyou pixt two sets together, yz)—umget the union. -

AUB

This means A or B.

A B | | The complementof A s the region that is not A.
== A'

This means not A.

Questions:
1.

&=1{1,2,3,4,5.6,7.8,9. 10}

A= {multiples of 2}

A B={2 6}
AuB=1{1,2,3.4.68,09. 10}

Draw a Venn diagram for this information.

& | \

o\ ; Q9

(Total for question is 4 marks)
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Here is a Venn diagram.

(@)  Write down the numbers
that are in set
(i) AUB

One of the numbers in the diagram is chosen at random.
(b) Find the probability that the number is in set A’

LOER-

(2)

(Total for question = 4 marks)
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Sami asked 50 people which drinks they liked from tea, coffee and milk.
All 50 people like at least one of the drinks

19 people like all three drinks.

16 people like tea and coffee but do not like milk.

21 people like coffee and milk.

24 people like tea and milk.

40 people like coffee.

1 person likes only milk.

Sami selects at random one of the 50 people.

(@)  Work out the probability that this person likes tea.

, b o
C v S
19
3 , |
!
1 |
] l
f\w'l F
| e .
TTTTTIOO—=
(4)
(b)  Given that the person selected at random from the 50 people likes tea, find the
probability that this person also likes exactly one other drink.
< |
................... y i SR
(2)

(Total for question = 6 marks)
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Proportion

Things to remember:
e Start by checking the question for squares, cubes and roots;
e “xis directly proportional to y” looks like x e y or x = ky

i H H H ” i 1 k
e “xis inversely proportional to y” looks like x a SOrX=>

Questions:
[ The shutter speed, S, of a camera varies inversely as the square of the aperture setting, f.

When f=8, S=125
(@)  Find a formula for S in terms of f.

)
S o ‘f’-
S= Kk
<
‘ ¢ FOO0
2S:k Se-goos 00 .. S. S o fE.
. 3)
(b) Hence, or otherwise, calculate the value of S when f = 4
Q= OO
™
S= e SO
(1)
(Total 4 marks)
2. In a factory, chemical reactions are carried out in spherical containers.

The time, T minutes, the chemical reaction takes is directly proportional to the square of the
radius, R cm, of the spherical container.

When R =120, T=32

Find the value of T when R =150

[ & R* F = SO
T =k e * SO

(Total 4 marks)
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3.

d is directly proportional to the square of {.
d=80whent=4
(a) Express d in terms of .

dutt

A= ke .

€O = & L) D k=35 .. .o ORI = s
(b)  Work out the value of d when t=7

Ad=Sx2°

COR: -1 -

(c) Work out the positive value of t when d = 45
¢S =Se*

=30 -3
(2)
(Total 6 marks)

The distance, D, travelled by a particle is directly proportional to the square of the time, f,
taken. When t =40, D = 30
(a)  Find a formula for D in terms of .

LY
D=kt
- —> [
o0 =4LI0" (< g, <l
)(_ ” __S D = e !’.{‘.?..L.'.); ....................................
" leo (3)
(b)  Calculate the value of D when t = 64
D=3 x6 (_&-L
10O
.................... 2650
(N
(c) Calculate the value of t when D =12
Give your answer correct to 3 significant figures.
12 = 3¢
{60
| 620 = 3¢e? ——
GUOSEE 0 s "’Zk)‘% ........................
&2 LS A Gl
. 2 = B . (Total 6 marks)
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The time, T seconds, it takes a water heater to boil some water is directly proportional
to the mass of water, m kg, in the water heater. When m = 250, T = 600

(a) Find T when m =400

T wm Far2. % e
T = 2.4 x&OO
600 =2SOK
g o T=

The time, T seconds, it takes a water heater to boil a constant mass of water is inversely

proportional to the power, P watts, of the water heater.
When P = 1400, T = 360
(b)  Find the value of T when P =900

T « ‘,- T = SO OOO
¥ s .
: |
= k S
2 = SO«
— s T e
360 = k& PO
l SO

e & SO%G 000

A ball falls vertically after being dropped.

The ball falls a distance d metres in a time of f seconds.

d is directly proportional to the square of t.
The ball falls 20 metres in a time of 2 seconds.
(@)  Find a formula for d in terms of {.

drk
A=

o=

A

(4

kc

.
3

' N &

d=

k=>
(b)  Calculate the distance the ball falls in 3 seconds.

d=S x3°

(c)  Calculate the time the ball takes to fall 605 m.

- [4
é_)L._) S - (;f,

(el =87

L 2 % 1
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(3)
(Total 6 marks)

H .................................. seconds

(3)
(Total 7 marks)



7.

In a spring, the tension (T newtons) is directly proportional to its extension (x cm). When the
tension is 150 newtons, the extension is 6 cm.
(a)  Find a formula for T in terms of x.

1 Ené

T =lkx
| SO =6k

k=23

L=
(3)
(b)  Calculate the tension, in newtons, when the extension is 15 cm.
T=2Z28 %15
....................... 2.2 in.NEWEONS
(1)
(c) Calculate the extension, in cm, when the tension is 600 newtons.
600 =2S =
CW 25
24
.................... p. SORSRRURRRR | |
(1)
(Total 5 marks)
fis inversely proportional to d.
When d =50, f= 256
Find the value of fwhen d = 80
f I
F 4 f = 12820
f= k& ,A 5
A F=1z800
1{2 C\“ (} i }!"i:. }S;(_,;)
S’u_;) _
o f= l()U
;C - [ (: gi.‘)ﬂ.") ...........................................................

(Total 3 marks)
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Percentages — reverse

Things to remember:
e Work out what the multiplier would have been;

x multiplier

New
amount

Original
amount

+ multiplier

Questions:
1. Loft insulation reduces annual heating costs by 20%.
After he insulated his loft, Curtley’s annual heating cost was £520.
Work out Curtley’s annual heating cost would have been, if he had not insulated his loft.

S520+0: 8

(Total 3 marks)

2. In a sale, normal prices are reduced by 20%.
| SALE - 20% OFF |
Andrew bought a saddle for his horse in the sale.
The sale price of the saddle was £220.
Calculate the normal price of the saddle.

-l.'ji Z—R\ ) :"\ ) . \R\S’

(Total 3 marks)

3. Hajra’s weekly pay this year is £240
This is 20% more than her weekly pay last year.
Bill says ‘This means Hajra’s weekly pay last year was £192.
Bill is wrong,
(a)  Explain why.

Selhes b dne ONaLodl eVt e

(1)
(b)  Work out Hajra’s weekly pay last year.

2¢O —-).2

(2)
(Total 3 marks)
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The price of all rail season tickets to London increased by 4%.
(a)  The price of a rail season ticket from Cambridge to London increased by £121.60
Work out the price before this increase.

L & 12l
| OO, -JTe
SO 5 <
(2)
(b)  After the increase, the price of a rail season ticket from Brighton to London was
£2828.80
Work out the price before this increase.
28288 T 1., O%
T L & S
3)
(Total 5 marks)
In a sale, normal prices are reduced by 25%.
The sale price of a saw is £12.75
Calculate the normal price of the saw.
(2,98 T80 73
£ e e
(Total 3 marks)
In a sale, normal prices are reduced by 12%.
The sale price of a DVD player is £242.
Work out the normal price of the DVD player.
242 - O.6%
£ o AP 4

(Total 3 marks)

A garage sells cars.

It offers a discount of 20% off the normal price for cash.
Dave pays £5200 cash for a car.

Calculate the normal price of the car.

SO0 -0, 86

(Total 3 marks)
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Useful websites:

www.mathswatchvile.com
www.methodmaths.com

www.hegartymaths.com
www.mymaths.co.uk

w.drfrost.com

www.bbc.co.uk/schools/gcsebitesize
/maths

Remember: Do your best;
it is all you can do ©
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